E:= 210-103-MPa vi=103

= _E =8.077x 104-MPa
2(1 +v)
Jz = 11280-cm4 Jy:= 3920~cm4 x = 103~cm4
1240
Jz=11260cm4 2T _
Jy=3920cm4 M L 4. =7
— Y 1y £
Jx=103cm4 7Yy =
X X
> A
z ) y »
<
— “ Z
10kN A X1
D
Jm /) I
WO
XX
(1 2 1 2 j m m m 1
dyy=|—44—4+—33—-3+353]| + (4-5-4)—— + (4-3-4)- =0.59m—
2 3 2 3 E-Jz E-Jy G-Jx kN

3 3 3
m 1 m m -3 1
81, =(0)—— + (—~5~5~4)~— + 0- =6.074x 10 m~E

E-Jz 2 E-Jy G-Jx

m3 1 2 1 2 m3 m3 1
8y, := (0)- +|—33=3+—55=5|——+(3-53) =0.547m—

EJz 2 3 2 3 ) Ely G-Jx kN

2 3
-1 2 2 104" 1 1 1 2 kN-
Ap=—44-80+—4———4+—3.3:| =20 - —100 | - 3-5.75|- =
2 3 3 8 2 2 3 3

E-Jz

3 3

kN kN

4 (43-80)——
E-Jy G-Jx

+| (~4-5-80)-

Ajp=-11.806m

3

3 3

KN- 1 1 KN- KN-

Agyi= (0) = [ T=23:3:40 — =-5.5.80 | ———— + (~3.5.40)-——
E-Jz 2 2 E-Jy G-Jx

Agp=-7.356m

Rozewigzanie uktadu réwnan




311 82 > -Ayp
812 O S Ay,

-1 19.87874
X=D P X= -kN
13.22464
Momenty
Stan X1=1 Stan X2=1 Stan P Most
Mx My Mz Mx My Mz Mx My Mz Mx My Mz
AB 1] 1] 0 1] 1] 0 1] 1] 1] 1] 1] 1]
B-A 0 0 4 0 0 0 0 -40 -80 0 -40 -0.484
B-C 4 1] 0 1] 1] 0 50 40 20 -0.454 -40 20
CH 4 0 3 0 3 0 -80 40 -100 -0.484 0.325 -40.363
cD 0 -4 -3 3 0 0 40 80 100 0.325 0.484 40.363
D-C 0 -4 -3 -3 5 0 40 80 50 0.325 55,641 9.637
TNACE
Stan X1=1 Stan X2=1 Stan P Sily ost
Nx Ty Tz Nx Ty Tz Nx Ty Tz Nx Ty Tz
AB 0 1 0 0 0 0 0 0 10 0 19.879 10
B-A 1] -1 0 1] 1] 0 1] 40 -10 1] 20121 -10
B-C 0 1 0 0 0 1 -10 -40 0 -10 -20.121 -13.225
CHB 1] -1 0 1] 1] 1 -10 40 1] -10 20121 13.225
CD 1 0 0 0 0 1 -40 -10 0 -20.121 -10 -13.225
D-C 1 0 0 0 0 1 -40 10 0 -20.121 10 13.225
REAKCJE
Stan X1=1|Stan X2=1| Stan P Rost
ROX 0 1 0 13.225
RDY 0 0 -10 -10
RDZ -1 1] 40 20121
hAD 3 0 &0 9.637
MDY 4 5 -80 55641
MDZ 0 3 -40 -0.325

Sprawdzenie kinematyczne

Upz =

Mly-Mosty ds + M1z-Mostz MizMostz MI1x-Mostx ds
E-Jy E-Jz G-Jx
2

3
-1 2 10- 4 1 1 2 1 kN-
Up, = |—44-—-0484 + —-4. ——4 —3~3- —20 — —40.363 | + 3-5-—(9.627 — 40.363) |- L
2 3 3 8 3 3 2 Jz
1 kN-m3 kN-rn3
+{|4-5-—(65.641 — 0.484) |- + (—4-3-0.484)-
2 E-Jy G-Jx

A, = 1.539 % 10" *m

btad wzgledny

u
bladl := [0 —1303% 107 %
| 1p|
M2y-Most M2z Most M2x-Most
uy, = yMosty . zMostz xMostx
E-Jy E-Jz G-Jx
kN-m3 -1 1 1 1 kN-rn3 kN-m3
iy = (0): +| 223:3.2(40 + 0.325) + —-5-5.—(65.641 — 0.484) | +(=3-5-0.325)-
EJ 2 2 277 E-Jy G-Ix



ugy =—0.02m

| Uy
|A2p|

Sprawdzenie statyczne

blad2 := =0.274-%

RDx := —13.225 + 13.225 =0
RDy:=10-10=0

RDz := —40 + 19.879 + 20.121 =0

MDx := —10-5 — 20 + 40-3 + 9.637 — 19.879-3 =0

MDy := -19.879-4 + 10-4-2 — 13.225-5 + 65.641 =0

MDz := -0.325 + 10-4 — 13.225-3 =0
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